® x+1

@ x-1

X

@ x*-—x

—
=
I
)
=
~—
=
Il
N
=
|
<
=

—

—

L_l

=
— —
— o~
| i
3, _
((VA\
N N
= =
[




8

A

Ol
o)
op
1k

(=
=
S
+
oo

o
o = M

» f(=2) =0,
2)(x +2) 2 tHro] oA B
& HA deEafstd drt.

BN = > o
GO IR
=
|

=
%




B 4a?-8x— 125 Q5B (x-3) ] oIt} o] wl, mete

[} [e]
ggre 2109

@(x+2)2 @ (x-2)2 ® (x+1)2
@ (x-3)? ©® (x+3)?

3 1 -8 -12
3 12 12
2201 4 4 0
-2 4
211 2] 0
-2
110

2+ x2—8x-12 = (x - 3)(x +2)?

[ l=a+2y




4. 2012 =k=F T o], 2013 x 2011 S k 2 JERHH?

@ k% +k @k2—1 @ K+k+1
@ K-k+1 ® k2 -k

2013 x 2011 = (k + 1)(k — 1)
—Kk2-1




F oA 2 +ax-2, 2 +3x+ b9 HPFLFT -1 I, T
a, b2 & a+b2 727

A4}k x - 10122 Z42te] Hof x = 18 Y3t 0o]
Hr.

14a-2=0,14+34+b=0° a=1, b=—-4
L a+b=-3
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@)-1 ® 0 @ 1 2

@ -2




@ a+c @ a-b? ® a®-b>+ 2

@a2+b2+c2 ® a®+b* -

a® — a®b + ab® + ac® - b® — bc?

=a®-b*+ (a-b)c? —ab(a-b)

= (a-b)(a® + ab + b?) + (a - b)c* — ab(a - b)
= (a-b)(a* + ab + b + ¢ — ab)
=(a—=b)(a®+b*+c?)




(x4 —8x2 - 9) + (x2 - )% A Atotof gt

@x2+1 @ x*-1 @ 2+2
@ x%2-2 ® x*+3

x* - 8x2 —9—( 9)(x2—|—1)
— 2t




ohg A Aol A Bora g eha?

242 —3x+1, 3x2-x—-2, x2+3x—4

@x—l @ 2x-1

@ x+3 ® x+1

B

22— 3x4+1=(2x-1)(x—1)
3x2—x—2:(3x—|—2)(x—1)
¥ +3x-4=(x+4)(x-1)
whebA FHdf FoFg= x - 100t




10. 5 ohahA] 3xt—2x% —9x2+4, 3x3-3x2—6x 9] H|UFLFLE FL5HH?

O (x-1)(x-2) @ @+)x+2) @u+1)x-2)
@ (x-1)(x-2) ® (x+1)(x-1)

B

31t 243 -9x2 4+ 4
=x+1)(x-2)(x+1)(Bx-2)
3x3-3x2—-6x=3x(x-2)(x +1)
LAY (x-2) (x+ 1)




11. % o334 22 +ax + b, % + 3bx + 2a 9] HHFFF7F x -1 o,
a+ b9 g& F-5tH?

@ 2 @ 1 ® 0 @—1 ©® -2

S5 ~
A gotsrt x- 10122

2 +ax+ b2t x?+3bx+2a=

R 12 o] WojAof g,
14+a+b=0°211+3b+2a=0

o2k, a=-2, b=1

La+b=-




12.

SFHA (x = 1) (x = 3)(x + 2)(x + 4) + 21 & A

2

O (¥®-x-5)(x*+x-9) @ (¥*-x-5
® (XP+x+5)(x*+x+9) @(x2+x—5)(x2+x—9)

® (2-x+5)(x2+x+9)

s of sH?

~&B

(EFA) =(x-1)(x+2)(x-3)(x+4) +21
=(x?+x-2)(x2+x-12) +21
2 +x=AR AF5HE,
(A-2)(A-12) +21 = A2 - 14A + 45
=(A-9)(A-5)
(24 x-9) (% +x-5)

)(x? —x-9)
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14. a®>+ab+a-b-29 A2 A A

@ a-b-2 @ a+b-2 @a+b+2
@ a+1 ®b+1

B

a°l T WH e = A2 & A4-E5f Tt

(F)=a’+ab+a-b-2
=a?+(b+1)a-b-2
=(a+b+2)(a-1)




15. A= o E Al A x, y, zol tiske] x® +y3 + 22 = 3xyz & WSS 1,
x+y+2z9 @22

@o @ 1 ® 2 @ 3 ® 4

3 +y3+ 28 -3xyz
=x+y+2)@P+y*+22-xy-yz—zx) =0
(x+y+2)=0FE=2+y’+22-xy—-yz—-2x=0

1
Cxty+z=0Ex S{x-y)?+ (-2 + (-0 =0
Jd8d x, y, z 7t AR 2 A A5 (x 2y £2) |BER
x+y+z=0




16. a+bt+c=1,a>+b*+c2=5a+b>+c® =2Y W, abc o] 727

@) B @0 ®

3 O]

Wl ot
| Ot

®1

~&B

a?+b?+c?
=(a+b+c)?>-2(ab+bc+ca)|E=
5=1-2(ab+ bc + ca)

. ab+ bc+ca= -2

a’® + b + 3 — 3abc
=(a+b+c)(a*+b?+c?—ab-bc-ca)°|BE
2—-3abc=1-(5+2)

5
" abe =2
aoc 3




17. 24ax—-92 x24+bx+c 2 FE 2x2-4x-6, AT SE B3 —x2-9x+9
1
ce

olth. a—b+ o] g Fatolat. (& a, b,

> E.

> Het: 7

B

A=x*+ax-9=Gp

B=x%+bx+c=Gqze}stH

A+B=(p+q)G=2x>-4x—6=2(x+1)(x-3)

L=pgG=x3-x>-9x+9=x%(x-1)-9(x-1)

=(x-DE*-9) = (x-1)(x+3)(x-3)

oA, G=x-3, p=x+3, g=x—-1°|t}h

T A=(x+3)(x-3)=x*-9
B=(x-1)(x-3)=x>-4x+3

La=0,b=-4¢c=3

La-b+c=T7




18.

24357t 2 - 3x 42013, APFER7E x - 19 W, 014

7'1]/\7]' 1 O] 1:}0]'/“ _/] o]-__ (—‘5-]_1?1;?

@ 2 -x+1

}o]

L=abG, G =x-14

L=(x-1)%x+2)

A:(x—1)2’ B=(x-1)(x+2)

A+B=(-2x+1)+ (2 +x-2)
=W = =1




19.

oI ] A% 191 5 EFGAI 9] HTfBOFT) x4 201, 24T
57} 4 - 2xd W, ol €] g

@ 2x24+3x+2 @ 2x2-3x-2 ® x2-3x-2
@2x2+3x—2 ® x*-3x+2

A =Ga,B=Gb (a,b= HN=2L)

G=x+2

L=x*+x>+2x =x(x+2)(x-1) = Gab

A=x(x+2)=x*+2x
=(x+2)(x-1)=x*+x-2
A+B=2x*+3x-2




20. F o 4, Bo) A FESE axpe B o S5 0
SFH?
® A @s ® AB @ A° ® B
A%B=G&8l'H, A = aG, B =bGO|L, a,b= AE40]T},

ABkB? _ abG*k1?G*>  bG>

—— =bG =B
A% B G G




21. -1 +1° (P 4ax+b)(x®>+3x+b) 2 AFEND W, a+ b
o] 27

=116+ 1= (2% - 1)2 - 942
= (¥ = 1)* = (3x)°
=(x?-3x-1)(x>+3x-1)
(x +ax +b)(x* + 3x + b)

La=-3, b=-

L a+b=-
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x—|—y—|—z:0 ...... @

1 1 1 3
—db S b = = Zaaonss @
x y z 2
x2_|_y2_|_z2—1 ...... ©

(x+y+2)2=x2+y +22+2(xy +yz +zx) °|BZ
@, ©°lA 0% =1+ 2(xy + yz + zx)
1

'.xy+yz—|—zx=—§ ...... @

O DFYFX _ S na
xyz 2

3xyz = 2(xy + yz + zx)

i 1

. XYz = —g

T, 34+ +22-3xyz
=x+y+2)(x®+y*+22—xy—yz—2zx)
@A x+y+z=00]B=2

1
B4y +78=3xyz=3- (_5) = -1




23.

M7 Al ®1e] Aol a, b, coll 5t (a+b-c)(a—
b(b+2c)+ (c+a)(c—a)7t AHL ), o] AZF2 ojH
7

@a7a73 @ ol5HAAE O AAnd
GIE BRI ® =77

8

(a+b-c)la=b+c)
=b(b+2¢) + (c +a)(c—a) A

la+ (b-c)lfa— (b—c)} = b* + 2bc + ¢* - a?
a? — b+ 2bc — ¢* = —a® + b* + ¢ + 2bc
2a® = 2b? + 2¢2

Ca?=p% 42

wetA, o] 471 WHe] hol7t a2l A7




24. F A a, bol A [0, b] = o® - 1> F W, [¥% x-1] +
[2x+1, 3] + [0, 1] A+EF|SE (x - a)(x® + x° +bx+c) oftt.
o, < a, b, c T a+b+co 2?

@5 @ 10 @15 @ 20 ® 25

B ‘
[x2, x=1] + [2x+ 1, 3]+ [0, 1]
=xt-(x-1)2+(2x+1)2-94+0-1

=xt -+ 2 -1+4x%+4x+1-10

=x*+3x2+6x-10

= (x=1)(x® + x* + 4x + 10)

=(x-a)(x®+ x> +bx+c)

Wb, a=1, b=4, c = 10922

a+b+c=15




25. f(2)=-15,¢g(-2)=5
2x — 35), | AFu57t
w0

591 1A f(x), g(x) ] Fol (x+3)°(x* +
F(x+3)(x% +3x - 35) D 1, f(-2) + g(2) ]

D 8 @ 18 ® 28 @38 ® 48

B

o] (x + 3)%(x® + 2x — 35) ©] 1L,

£FH7E (x4 3) (% + 3x - 35) | E &

OJZFA2 (x4 3)(x = 5), (x +3)(x +7)

2) = -15°|B2 f(x) = (x4 3)(x-5)

2):5O]U§g() (x+3)(x+7)

(=2) 4+ 8(2) = (-2 +3)(-2-5)+ (2+3)(2+7)
= (=7)+45=38
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